520 oo For any colour, Y,,=100, P45
7 M., [max (m) chromatic value?],
igstohe chromaticity diagram (x, y)

CIE 1931 X

0,0 0,2 0,4 0,6 0,8 1,0

BE150-1A 1



-0,8 0,0 0,8 16 2,4

3,2

s2sMmbmszs 600 625

2%Tvy=s,

=—0,4Cly

90 Parame

a=xly

495c Ber: N

BE150-2A 1



-0,8 0,0 0,8 1,6 2,4 3,2
a1=(x—0,171ly

525Mm|-m57s 600, 625 700
™

Re 495¢c.E Parame:
ter: N
500c,E
510c,E
525¢,E

[max (m) chromatic value?],
chromdticity diagram (ay, by)

550c,E
For ani colour, Y,,=100, P45

BE150-3A 1



-0,8 0,0 0,8 16 2,4 3,2

0.0Tv =S, 52Mm Lms7s

501
MA=Shao

-0,8

>

I

ol

@

=}

£

-]

©

1

< | For any colour, Y,,=100, P45

[max (m) chromatic value?],
chromaticity diagram (ap, by)
BE150-4A 1




(-0,974+0,6581y

-0,8 0,0 0,8 16 2,4 3,2
700 a3=(x-0,17Dly
00P_522 495¢,E

6
o s2Mm L%som c Parame
V4{=§ ! ter: N

P45 510c,E
525¢,E

550c,E

Ts

For any cglour, Y,,,=100, P45
[max (m) ¢hromatic value?],

chromaticjty diagram (ag, bg)

47

BE150-5A 1




-0,8 0,0 0,8 16 2,4 3,2
as=(x-0,171ly
0.8 =Sp2sMmLms7s G Parame
M)=$ > = Dosce N
o P45 500c,E
-0,8 510¢,E
525¢,E
4
>
= 550c,E
S ~1.67k7s
13 B&m/| [ Ts
o
¥
&
S
o 470 For any clour, Y,,=100, P45
e [max (m) fhromatic value?],
S chromatidity diagram (ay, bs)

BE150-6A 1




(-0,974+0,6581y

-0,8 0,0 0,8 16 2,4 3,2

s 625 1% a5=(x-0,17Dly
0,0 %swc £ Parame
V4= : ter: N
Mé P45 510c,E
-0, 525¢,E
550c,E
=iL (8
2
TS
For any cglour, Y,,,=100, P45
[max (m) ¢hromatic value?],
chromaticjty diagram (as, bs)

BE150-7A 1



(-0,974+0,6581y

For any colour, Yy =10
[max (m) chromatic val
chromaticity diagram (as, by

BE150-8A 1




